
K-115, K-210, K-212, K410

Part number Part name.

K-115 1 2 3
Drivers

7E61602811 15" Driver unit, FBASS15-20 8Ohm, 1363 Paul x x

Port tube
7E57507611 Port tube for RS210/RS212 - 1097 x x

Chassis
7E56313611 Screw, M4x22 10mm Head, FZB Black x x x
7E57500001 Rubber foot for K-Series cabs x x x

K-210
Drivers

7E61600411 HF driver unit for Dirch Cabinets x x
7E61602411 10" Driver unit FBASS10-18 16Ohm for K-210 x x
7E57514711 DR10058-A, Horn for HF driver, Plastic, Black, K-series x x

X-Over & port tube
7E61601412 DR09916-B, X-Over assembly for BC210,212,410 x x
7E57507611 Port tube for RS210/RS212 - 1097 x x

Chassis
7E56313611 Screw, M4x22 10mm Head, FZB Black x x x
7E57500001 Rubber foot for K-Series cabs x x x

K-212
Drivers

7E61600411 HF driver unit for Dirch Cabinets x x
7E61602311 12" Driver unit FBASS12-20 for K212 x x
7E57514711 DR10058-A, Horn for HF driver, Plastic, Black, K-series x x

X-Over & port tube
7E61601412 DR09916-B, X-Over assembly for BC210,212,410 x x
7E57507611 Port tube for RS210/RS212 - 1097 x x

Chassis
7E56313611 Screw, M4x22 10mm Head, FZB Black x x x
7E57500001 Rubber foot for K-Series cabs x x x

K-410
Drivers

7E61600411 HF driver unit for Dirch Cabinets x x
7E61602511 10" Driver unit FBASS10-18 32Ohm for K-410 x x
7E57514711 DR10058-A, Horn for HF driver, Plastic, Black, K-series x x

X-Over & port tube
7E61601412 DR09916-B, X-Over assembly for BC210,212,410 x x
7E57507611 Port tube for RS210/RS212 - 1097 x x

Chassis
7E56313611 Screw, M4x22 10mm Head, FZB Black x x x
7E57500001 Rubber foot for K-Series cabs x x x

Service level

Edited by: FNN
06-06-16 1 of 2


